
 2.500 

 2.750  2.750 

 2.500 

 2.750  .500 

 2.500 

LPA CROSS SECTION

 2.750  .500 

 2.500 

 7.000 
 2.874 

 .875 
 .425 

 5.124 

 3.280 

 R.219 

 R.117 

PENDANT MOUNT
STD CROSS SECTION LPA CROSS SECTION

WALL MOUNT

NOTES:
READ ENTIRE INSTRUCTION SHEET BEFORE INSTALLATION.1.
FIXTURES ARE SUPPLIED WITH FACTORY INSTALLED BRANCH CIRCUIT WIRING.  REFER TO 2.
SUPPLEMENTAL INSTRUCTION SHEET FOR MAKING CONNECTIONS.
AIRCRAFT CABLES AND/OR WALL BOX ASSEMBLIES, AND ENDCAP KITS ARE SHIPPED 3.
SEPARATELY.

STD CROSS SECTION

litecontrol.com

DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100.

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 22L MOUNTING TYPE: PENDANT/WALL

REV / DATE: 1 / 6/24/22

PAGE: 1 OF 3

SUPPLIED BY INSTALLERTOOLS REQUIRED

DRAWING: 510688

7/16" SOCKET/WRENCH (WALL MOUNT ONLY)
11/32" WRENCH/SOCKET OR PLIERS



1 2 3 4

5 6 7

A

D

INSERT HERE AND ROTATE UP

B

C

IF INSTALLING A ROW, JOIN FIXTURES 
TOGETHER USING SCREWS IN HARDWARE KIT.
WIRING CONNECTIONS CAN GO THROUGH 
BOTTOM HOLES IN END HEADERS

F
H

REMOVE LED ASSEMBLY BY REMOVING 
(6) #8 SHEET METAL SCREWS

G

REPEAT STEP 3 AND INSTALL END 
OF ROW END CAP RE-INSTALL LED 

ASSEMBLY

LOCATE AIRCRAFT CABLES ALONG A STRAIGHT LINE 
IN CEILING PER DIMENSIONS SHOWN ON PAGE 1
(REFER TO INSTRUCTION SHEET 510481)

ON BOTH SIDES OF FIRST FIXTURE IN ROW (OR INDIVIDUAL) INSTALL 
SWAGES ON YOKES BY INSERTING INTO HOLES IN END HEADER 
ALONG FIXTURE AXIS AND ROTATING UPWARDS

INSTALL END CAP ON BEGINNING 
OF ROW SIDE (OR BOTH SIDES OF 
INDIVIDUAL FIXTURE) BY 
INSERTING WELD STUDS INTO 
PROPER HOLES (BE CAUTIOUS OF 
LEFT HAND VS RIGHT HAND) AND 
SECURING WITH #8-32 NUTS 
PROVIDED IN END CAP KIT 
(SHIPPED SEPARATELY) 

RAISE FIXTURE UP AND INSTALL CABLE 
HANGERS ONTO AIRCRAFT CABLE AND 
MAKE WIRING CONNECTIONS

litecontrol.com

DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100.

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 22L MOUNTING TYPE: PENDANT

REV / DATE: 1 / 6/24/22

PAGE: 2 OF 3

DRAWING: 510688



1

2

3

4

5

6 7

 FIXTURE LENGTH 

 6.000  6.000 

BACK VIEW

E

J

N

REMOVE LED ASSEMBLY BY REMOVING 
(6) #8 SHEET METAL SCREWS

K

K

RAISE FIXTURE ONTO WALL BRACKET STUDS AND SECURE 1/4-20 
NUTS FROM INSIDE.  DO NOT FULLY TIGHTEN AT THIS TIME.

L

M

LOCATE WALL BOX LOCATIONS 
ACCORDING TO BACK VIEW ABOVE

INSTALL END CAP ON 
BEGINNING OF ROW SIDE (OR 
BOTH SIDES OF INDIVIDUAL 
FIXTURE) BY INSERTING WELD 
STUDS INTO PROPER HOLES 
(BE CAUTIOUS OF LEFT HAND 
VS RIGHT HAND) AND 
SECURING WITH #8-32 NUTS 
PROVIDED IN END CAP KIT 
(SHIPPED SEPARATELY) 

IF INSTALLING A ROW, JOIN FIXTURES 
TOGETHER USING SCREWS IN HARDWARE KIT.
WIRING CONNECTIONS CAN GO THROUGH 
BOTTOM HOLES IN END HEADERS.  TIGHTEN 
WALL MOUNT BRACKET NUTS.

RE-INSTALL LED 
ASSEMBLY

REPEAT STEP 3 AND INSTALL END 
OF ROW END CAP

litecontrol.com

DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100.

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 22L MOUNTING TYPE: WALL

REV / DATE: 1 / 6/24/22

PAGE: 3 OF 3

DRAWING: 510688


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View6

	Sheet2
	Drawing View7
	Detail View A (1 : 2)
	Drawing View10
	Detail View B (1 : 2)
	Drawing View12
	Detail View C (1 : 2)
	Detail View D (1 : 2)
	Drawing View19
	Detail View F (1 : 2)
	Drawing View21
	Detail View G (1 : 2)
	Detail View H (1 : 2)

	Sheet3
	Drawing View15
	Drawing View17
	Detail View E (1 : 2)
	Drawing View24
	Drawing View25
	Detail View J (1 : 2)
	Drawing View27
	Drawing View28
	Section View K-K
	Drawing View30
	Detail View L (1 : 2)
	Drawing View32
	Detail View M (1 : 2)
	Detail View N (1 : 2)


